Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering Semester —IV Examination Dec. - 2011

Subject code: 340606 Date: 13/12/2011
Subject Name: Quantity survey& costing

Time: 10.30 am — 1.30 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q1 (@) ) Give the measurement unit for the following items: 03
1) Brickwork  ii) M.H.cover iii) Pointing
iv) Airvent pipe v) Hume pipe collar joint vi) G.I. Ridge
II) Enlist qualities of good estimator. 04

(b)  What are the methods of approximate estimate? Differentiate 07
between approximate estimate & detailed estimate.

a2 (@) Define rate analysis. State the factors affecting R.A. Explain major 07
factors.
(b)  Derive Rate analysis for Ashlar masonary in C.M. (1:5) 07
(b)  Derive Rate analysis for 1* coat Ic;i't?lminous surface painting. 07
Q.3

(@) Define specification. What is the importance of specification? State 07
the principles of specification writing.
(b)  Write shortnote i) Day work ii) spot items 07

OR

Q.3 (@)  Write detailed specification for course rubble masonary in C.M.(1:5) 07
(b)  Workout the weight & painting area for 07
1) Angle 75mm x 75 mm x 10 mm Principal Rafter 5 mt. long
ii) 40 cm x 50 cm Gusset plate 8 mm thick

Q.4

(@) Workout the quantities of following items from fig. no. 1 07
i) Excavation in ordinary soil
ii) Open jointed brick masonary

(b)  Workout the quantities of following items from fig. no. 2 07
i) P.C.C.(1:3:6) for turnwall
ii) Brickwork for turnwall
ii1) C.C. coping (1:2:4) for turnwall

OR



Q.4

Q.5

Q.5

(a)

(b)

(a)

(b)

(a)

(b)

Workout the quantities of following items from fig. no. 1
1) Excavation in hard murrum & B.B.C.C. (1:5:10)
i1) Sand filling

Workout the quantities of following items from fig. no. 3
i) P.C.C. (1:3:6) for wingwall
ii) Brickwork for wingwall
iii) C.C. coping (1:2:4) for wingwall

Calculate the quantities of earthwork. Formation width = 10 mt.
Sideslope for cutting 1:1 & for banking 2:1

C.H. 0 30 60 90 120 150
G.L. 105.0 | 105.60 | 105.45 | 105.90 | 105.40 | 104.30
F.L. - - 107.60 - - -
Downward gradient 1 in 150 from CH. 0 to ch150
Use mid sectional area method.
A hill road is to be constructed in side long ground in filling.
Calculate the quantity of earthwork for 10™ to 14" chainage.
The length of chain is 30 mt.
Formation width = 10 mt. sideslope for filling is 2:1
Use prismoidal formula
Chainage 10 11 12 13 14
Depth of | 3.00 3.50 4.00 2.70 2.90
filling at
center
Cross 10:1 12:1 8:1 8:1 10:1
slope of
ground
OR

Calculate the quantities of earthwork by mean sectional area method
Formation width = 10 mt. Sideslope for cutting 1:1

C.H. 0 100 200 300 400 500 600
G.L. | 50.00 | 50.50 | 51.00 | 51.30 | 51.50 | 51.00 | 50.50
F.L. | 49.00 - - - - - -

Formation has no slope. Draw the cross section at CH. 300 mt.

A 500 mt. long road is to be constructed in side long ground partly
in cutting & partly in banking. The formation width of road is = 12
mt. & cross slope of ground is 10:1 . sideslope for cutting 1:1 & in

banking 2:1
C.H. 1000 1100 1200
G.L. 102.00 102.50 101.00
F.L. 100.00 100.25 100.50

Use prismoidal formula.
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iii. (ot At HR c.c. s\t (1:2:4)
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C.H. 0 30 60 90 120 150
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F.L. - - 107.60 - - -
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(H:V) ®.
C.H. 0 100 | 200 | 300 | 400 | 500 | 600
G.L. | 50.00 | 50.50 | 51.00 | 51.30 | 51.50 | 51.00 | 50.50
FL. |49.00]| - - - -
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C.H. 1000 1100 1200
G.L. 102.00 102.50 101.00
F.L. 100.00 100.25 100.50
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